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X:=(7-8/2*2+(3-10/2)/2); (a>,s 2)
Y:=(3+4*(8-3)/(7-2*(5-2))+3) ; (a=>,5 2) “
Z:=((5>3) and (2<7) or (3>4)); (a>,> 2) |
M:=((8 mod 5)+ (7 mod 3)-(Q div 4)) ; (a>,s 2) !
F:=NOT (5>3) and (6<9) Xor (3>4) ; (a>,5 2) :Ja VI JI3 \
A:= Trunc (79.89); A:=? (a>,> 2.5) a>,> 20 l
B:= Pred ('n"); B:=? (a>,> 2.5) ‘
C:=0dd (46); C:=? (a>,» 2.5)
D:=9; DEC (D,2); D:=? (a>,> 2.5)
X=-2.00000000E+000, Y=2.60000000E+01, Z=True, M=2, F=False >Vl '1
A=T79 B=m C= False D=7 =
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Y[1,1]=0, y[1,2]=2, Y[1,3]=6, y[1,4]=12, Y[1,5]=20 al>Vl
y[2,1]=-1, Y[2,2]=0, y[2,3]=3, Y[2,4]=8, Y[2,5]=15 (eis JSJ a>,5 1.5)
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Result_1= 13 (&=, 2)

| Result= 13 (a=>,5 2)

Result_1=-1 (&>, 2)

| Result=- 1 (a3 2)

: a8lo| asy

var

s:integer;

| Result_1= 13 (a>,3 1.5) syl
| Result= 0 (a>, 1.5)
| Result_1=-1 (a>,31.5)
| Result= 0 (a>,> 1.5)
|
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